
EASTERN UNIVERSITY, SRI LANKA

FACULTY OF COMMERCE AND MANAGEMENT

fhird Year First Semester Examination in Bachelor of Commercel Bachelor of
l Commerce (Specialization in Accounting and Finance)- 2017 t2018(July 201 9)

(Proper/ RepeaU Re-Repeat)

DAF 3043 Corporate Finance

[nswer All Questions.

falculator Perrnltted.

fse Table Attached.

Time: Three (03) hours.

Calculate cost of sales from the following details:

Working Capital

Current Ratio

Quick Ratio

Debtors Velocity

Creditors Velocity

Cost of Sales

Gross Profit Margin

Opening Stock

Closing Stock

Rs.450,000

1..5

0.9

Stock Turnover Ratio 6 Times

1
i

(05 Marks)

ll) From theTollowing information calculate trade debtors and trade creditors:

2 months

3 months

Rs.1800,000

25o/o of sales

Rs.500,000

1112 of sales

(05 Marks)



(!ll) The Statements of Financial Position and the lncome statements of CVP plc

KLB plc, which are operating in the same industry and adopting sfl

accounting policies, for year ended 31st December 2018 are given below:

Statements of Financial Position as at 31"1 December 2A18

GVP plc KLB plc

Rs.000 Rs.000

Liabilities
Equity Capital 228,220 214,019

Bank borrowing 12,300 8,610

Creditors 103,006 64,427

Outstanding expenses 5,843 3,797

349,369 290,853

Assets
Propefl and Equipment 136,210 121,345

Stock 12A,725 90,526

Debtors 33,638 60,495

Expenses paid in advance 4,311 ., "2,269

Cash 54,485 16,218

349,369 290,853

1

lncome Statements for the years ended 31st December 20181\

Required:

(l) Calculate relevant possible ratios used to measure profitability, efficier

liquidity, and long term solvency for above two the companies'

(ll) Comment on the above aspects comparing ratios between those compar

and state which company perform well'

(15 Mat

(Total 25 Mat

il)

ilr

458,618
276,174318,133

16,415



I I lf you depcsit in a eauir:gs acecuni *f a bai'rk R*.'1CI,{i*{} a i"n*ritit ierr r:ste year,

and Rs.20,000 a mor:tl'l far 2 V*ars therea:fter. Vr/hat w!l! ihese *avlngs qiurrulete

to at the end of 3 ye*rs ifl the intsi'est rate is 12% p:er afifiu'"R *i;:np*uitded

monthly?

{S5 fljlarks)

l) A state bank adveftises thai it will pay a iump sum cf Rs.751,30S et the end of

three years to investors who deposit :q*a;'terlir Rs.50,000. Wllat is annual

interest rate in this offer if it is eompounded quanerly?

(05 Marks)

lll)Suppose your parents want to buy 22 perches of land in five years in a town. He

estimates that a perch of land rn;ili cost hirn Rs.661,010 when he becomes ready

to buy it. How much money wculd he need to iilvest each y*ar in an account

bearing interest at the rate of 14 percent per year in order to accumulate to

amount equivalent to the purchase price cf the land? -
{G5 Marks)

ilV) Suppose an investor estimates the receipt of cash flbws of Rs.175,000 at the

end of each year for next 4 years, and Rs.123,500 and Rs.2{,500 respectively

at the end of Sth and 6th year. Assuming a discount rate of*12.5o/o during the

next {..years and 14.5a/o thereafter determine the present value of the cash

inflows.

(05 Marks)

(V) A firm has borrowed a bank loan of Rs.2,464,020 from a bank. The loan requires

five equal end - year payments of Rs.650,000 each towards the repayment of

loan with interest. What interest rate does the bank charge? Prepare a loan
I 

amortization schedule.

(05 Marks)

(Total 25 Marksi
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{a} Caleuh.e tir* Cfs'r'!s.ii'i1i',t Sleri:'",L'l'c:'l Pi:ir-ir.t isl r,iililt afid rupee$'it!'i

yGer"

tb) \rfhart i,: rh* firiei'',lir1 of Safety'f*r t?le eornparilr?

{e}r{cwrr...ry[,!n;issfyegunt*t}:*ecrnpi:nr.;sh.:rrllcls*ilinoi"dertoearn*;
pncfit o ; P.s. 3,[iu, $*""3 ci u ri ng tq-,e' "/s':ii ?

i{$i suppos ; t!-re *,::rlpnr:y e*tlE:ra'tee; that vsiist}ie ffianufacturlng

ipcreases b*v 15 Bere*:l1 ipl.tir+ ssrning 1's11r.:What'r*vill be innpact

Sn*ak-f;ven Felnt? ",

{e} [f the csnipaily's variabl* fitargllfaeturiilg enst$ do in*r€ase by x s pe 
I

what sh*urlcj the csffipan'/ d* t"* snnintalli tlie sarne rcntrl$tion ii

ratrCI in thi* eelnir:g Year?
$

iac) A con"r[]an-y lre cornpanii prcdLlces 'ii']re* brands alf sr*affi phories under a

piant. The5r are: [*ilniia, Ri]rne$, .sc;.'ott. 
-fhe eal.npan5r has prepared the h

fir the year 2019 fnllcws:

t-init Saies

fl-eirnia Ron'leo

40 100

84,00CI 'i08,000 144

39,600 36,000 QA

'5,00ef 12,600 18

{1* il

Unit Seiling Frice (Rsi

Var.kble [\franufaeturing eCI*i pe;-unit {Fi

tlaraanle-selling Ccst per r:l:i: iF:'*i



:sixeei fi'l&iriii.itt,"ti-trifrg cvenhead ig

tei*eel sslling arld a<lministnatlve

ir4cmpan5t'$ tax n*le is 30 pereerrt'

"1n

fQ*qul';*adl

br:dgeteci at Rs.6,OClCI,0SG, and ti:e Gllr'srp&nY's

expenses are foreeasted to be Rs'975,ij')*'
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le)

Find cut company's budgeted llet irlc*m* al"ter tax fcf''lhe ;'*eai" 2*19'

*a[euiate the fivera!! Contril-rutien i S*les ra'tio'

'r,Vhat is tl':e cverall Break-Sver'' psiari; {ir: rr-lpues} c'f the ccn'lpeny?

Asaurrning ihe :eale rnix reineins s$ hucllle;tee!, detennrie-le hr;w matiy ur'-lits ef

each pr.$duct {$tate in real nearest wlre'ie r:Lrmber] the *cmlrany rnr-lst sell il"l

erd*r tp hreak even in the year zSXg"

if tr:e c*mpany reduces the eis rall* ;':r f'.*rni+c phcne to 0'5 with the ssine

amc.*,,rts ei var'iaL:le ecsts rruhat wcuiili ** i'li; ge{lirig priee?

. t. " {'t5flv'iark*}

" - {TotaE 25 t$*r.*rs}

,,

T'he board cf diiectars of GF.F rle is eorr.ciderlr"rg the In$talling a lrew

rnanufaete.ining piar"rt ir: its fa*tery. The purcha*e RrieX *f ihe plant is

Rs."l500,SSfi and lnstaEiatiai: uriil esst Rs.25e,*00. -ihe p!*ttt w*n:id be usallle

for ,!4 yefir$. Tire boancl hlred e *ansulte,"lt, o/*'ito estEsrated th* glet cash infl*w oi

R.s.3$C,OfiCI each for first five years arrd Rs.350,0CI0 each for the next five

year$. -i-he Cqr^npany's ceist af eapital is 10 percent fer this project.

Required:

{a}

(b)

Calculate the ftet Present Value {hlPV) sf the project.

apprCIve the project [:ased on the NPV?

Calculate the lnternal Rate of Returnn {lRR} of the project'

approve ihe prcject based crl thc [RR?

Bhould the board

Should the bcard

{f S f$arks}



ilir i-ii.:; i.;,.:;'iritr CIf a trandporting f,ompeny i* eonsiderirrg a purehase of aeldi

't,ll:rie,:: 
{or liis business" He has ideiltifietl tw* alt*rnatives as fcllows:

r Si.,r,,!;'',,3 bg"air',j n*"vv vehieles,

* Bu!';.'iS,;nr-i rcfu:"bisiring useci veiiie:ies.

w
ol
;1

tI
sl
rtl
;1
7

"iile first project is purehasing five ne\'v vehieles eosting Rs.500,000 each9

ir$iin'leted useful economlc life of the vehicles is 10 years. lt is projected th&
!_

nei after tax cash inflows generated from operating the new vehiclefr

Rs.450,000 each for the first four years and Rs.600,000 each for the nef

years. The second alternative project is purchasing used vehicles for the;

cost CIf Rs.1200,000, and refurbishing thern at the cost of Rs.300,000. 1[

used vehicles are expected to be usefill for 5 years. The net after tax li

inflows generated from operating the used vehicles are estimated at Rs.a5{i

each for the first three years and Rs.350,000 each for tne n6xt trruo years$

Depreciation of both projects is on straight line basis. The owfier of the tirmt

a 10 percent required rate of return for the first five yedns and 12 per

thereafter. He will consider capital project only if they have a payback periff
oa

four years or less. The owner also favors projectl that exhibit an acc&rntin$ff

of return of at least 12 percent. 1 ;
tltFff

Required: Calculate the following for the above each alternative project: :
E

fi
I

(a) Net Present Value :
(b) Profitability lndex I
(c) Payback Period i
(d) Accounting Rate of Return based on the average investment and ave?

!
profits in the projects.

How do the hryo projects rank in terms of the above answers? lf the o'E

of the company sticks to his criteria, which project will he choose?

(15 Ma

(Total 25 Ma

(el



elil Presenx value and Future Valu6 Tablea

Table A.1 Future Value lntcrsst Factorr for One Dollar Compounded ai t( Perent for n Pedodsi FllF k,,' (1 + 4a

3.

,l

Table A-2 Futut€ value lnterest Factors for a One'Dollar Annuity Compouned at ft Percent tora Period3: FWFAT,'= I{1 + k)n. 1 I / k



Present Value and Fulurc Value Tablos

Table A.3 Prosent Value lnterest Faclors for One Dollar Dlsoounted at ft Porcent for n Periods: PlIFi, = I / (1 + k)n

4

TableA-4 PresentValuelnteresiFactorsforaOne-DollarAnnultyDiscountedatt Percentforn perioils: PVIFA=[1 -f(1 +kfl/k


